13-2/13-3 Angles, Reference Angles & Radians
Notes

Angle of Rotation
Remember: When sketching an angle, always start at the positive x-axis. Type equ%n here, Intrigonometry, an

The positive x-axis represents O Cor 2D °. ?é}fg;;ig";?::eﬁ?
angle of rotation.
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A reference angle is the acute angle formed by the terminal side and the x-axis. (denoted by 8")
Examples: Sketch each angle. Then find its reference angle.
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Radians

The definition of a radian is based on the unit circle, 1]
a circle of radius 1 which centers at the origin.

One radian is the measure of angle 6 in standard (-1,0) /‘
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position whose rays intercept and arc of length 1 unit.
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Circle Review: The circumference of any circle : /\ .
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Conversions

Radian Measure The
word radian is usually
omitted when ang's ~ e

Converting radians to degrees:  epressedinrad.

Converting degrees to radians:

A — 180 units are given for an
R = D ( ) D — R (' - ) angle measure, radian
180° T measure is implied.
Examples:

Rewrite the degree measures in radians and the radian measure in degrees.
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Coterminal Angles: The graph shows a 405° angle and a 45° angle. They both
share the same terminal side. When two angles in standard position have the same
terminal sides, they are called co terminal angles.- — '
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Examples: Find one angle with positive measure and one angle with negat/\::e‘ measure
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